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- 5366-B/0O
M.A. (Final) Examination, 2017

GEOGRAPHY
Paper-PR Second (B)
(Surveying)

Time : Three Hours
Maximum Marks : 40

PART - A (@ug-31) [Marks : 10
Answer all questions (50 words each).
All questions carry equal marks.
T 3 S R 1 T e T T v s T
T4t vl & ofw T
PART - B (@mz-9) [Marks : 20

Answer five questions (250 words each).
Selecting one from each unit, All questions carry equal marks,

mmﬁ@-wwgq%rgq,wﬁamﬁmr
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PART - C (@vs-7) [Marks : 10
Answer any fwo questions (300 words each).
All questions carry equal marks.
I3 W FIT | TR T IR 300 vi=al | afe 7 @
[ T F i TEE ¥
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PART - A
(HETs-37)
1. Wrice short notes on the following questions in this
section.
UNIT - 1
(gFE-1)
(a) Whatis principle of :evision ¥
ZraT & T # T
{b) Name the sources ¢l error in sucveying.
Ty § 3feEi ® wR gwed
UNIT - U
(z&TE-11)
(e} What s resoctioning 7
Trogic fmfon @ 27
(d) Whatare control peints ?
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UNIT - 111
(g@TE-111)
{ ¢} Whatis the use of Theodoljte ?
fasigrage =1 70 Toam 37
(f)  Dedfine contours.
THE YE i IRaig Fifes |
UNIT - IV
(FFTE-1V )
(g) Meaning of profile.
oftssfee @ ared |
(h) Whatis transiting ?
HorTl TR whed 32
UNIT -V
(3-V)
(i)  Methods of re-sectioning.
wieed &1 fafirei
(j) Importance of vernier plates in transit theodolite survey.

g fasfeiemse waem ¥ aiim <ize = waw |
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PART - B

(Eve-=)
UNIT - 1
(FHE-1)
2. What are the principles of surveying ? Explain each principle
with its importance in surveying.
Fe & Fag W 87 s # wedw foers 9w @
ol e | |
3. What are errors and inaccuracies in surveying and how a
surveyor can minimize them ? Explain.
T ¥ wA-wE 3feal v swinat 6w s
3! B T ]2 9o i

UNIT - II
(ghTd-11)
4. Explain the planning of large area planc surveys.
TR & HOeT WaE F Ao S qu i
5. Explain the terms and steps of plane table survey.

YT E WAL ! VIS T <O ] qU i
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UNIT - 41

(ZFTE-111 )N

6. Define parallax and give measures for its¢limination.
feria snvme =1 witntie S7es v s Rrmerds 3 sorm S =)
~
7. What is the importance of telemetry ? Explam. *
TS FI IUE T = g2 e ®
UNIT - 1V
(3E-1V)
8. What is physical quality of life ?
e = i ot w g7
9. Explain the concept of human development.
S 9T #1 HFeqT 31 waed |
UNIT -V
(3emE-V)
10. What are the sources of error in leveiling ? What precautions
should be taken to guard against them ©
aatdm 4 92 % w7 w22 www a & fau fx= =i =

1 3G FIiEy ?
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11.

12.

13.

The stadia readings on the stave held vertically at D are 4.255,
2.570 and 1.980 metres while the telescope is inclined at a
positive angle of 21°52". Calculate the horizontal distance from

the instrument stateion D,

YA D W TR swEi 2T 1 =fea wedis whw: 4,255,
2.570 9 1.980 #Htet 3, w@fe gEle gE g/ 21052, %1 v
FIOT S R | RIE D a9 S % | a1 dfas g 9
e |

PART - C
(Eve-4)
UNIT - I
(geFTE-1)
Surveying is an art. Explain,
HARIU T el & 2 THE Fifed |
UNIT - 11

(FHTE-11)

What is meant by plane tabling ? State the advantages and

disadvantages of plane tabling.

YA U2 TS § W 9red §7 WAYEE 9 v US gy
! FAgA |
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14.

16.

UNIT - OI
{ gerTs-111)
Explain the temporary and permanent adjustments of a transit
theodolite.
sifse fuafigees awendr 991 Wl TAEsE 1 e w0 |
UNIT - IV

(FE-IV)

. Explain the importance of socio-economic survey of an area.

feell 4 o g aides e =) wEw #1 W Sy |
UNIT -V
(3TE-V)
Complete the following level book by rise and fall method and
plot the profile on suitable scales. The reduced level at station
A is 580 metres.
T3E 3 AR TS0 4 7 a0l I #1 0 Hi 7T IS
Al & YR T GREIEET & 3o Smied | TEeE A W

HHER 7R 9= 580 Wi ¥ 1
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(Al measurcments are in metres)

(|4t o7y et #)

:;:l_iun Back sight | Intermediate Sight | Fore Sight | Distance

A 3.155

B 1.595 35.00
< 1.255 15.00
D 1.630 48.00
E 2650 18.00 25.00
F 2045 45.00
G 1789 2.560 35.00
H 1270 3200
I 3.835 3.330 10,00
J 3.130 2500
K 3.765 3500
L | 2483 45.00
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